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MPUB050_accel_pitch_roll

#include <Wire.h>
#include <MPUE0S0.h>

MPUE0SO mpu;

void setup()
1
Serial.begin(115200):

Serial.println("Initialize MPU&0507):

while {!mpu.begin (MPUE0SO_SCALE 2000DBS, MPU6050_RANGE 2G))
1
Serial.println{"Could not find a valid MPU0S0 sensor, check wiring!™):
delay(500) ;

void loop()
{
// Read normalized values
Vector 1 = mpu.

lizedccel{):

// Calculate Pitch & Roll
int pitch = -({atan2 (normAccel.XAxis, sqrt(normAccel.YAxis*normAccel.YAxis + normAccel.ZAxis*normAccel.ZAxis))*180.0)/M PI:
int roll = (atan? (normAccel.YAxis, normbecel.ZAxis)*180.0)/M PT;

// Output
Serial.print{" Pitch =
Serial.print(pitch);
Serial.print{” Rell = "):
Serial.print{roll);

Serial.println();

delay(10)7
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Ila:u::la. & - Ttmp = 27.45 | gX = T gY = I3 T g2 = g ‘W
15:05:17.241 -> | tmp = 27.45 | gX = 51 gY= 13 | g2 = El
15:05:18.259 -> | tmp = 27.45 | gX = 61 gY = 91 gz = 11
15:05:19.244 -> | tmp = 27.45 | oX = 61 gY = 16 | g2 = 11
15:05:20.263 -> | tmp = 27.40 | gX = 61 gY¥ = 13 1 g2 = 13
15:05:21.253 -> | tmp = 27.45 | gX = 71 gY = 31 | gz = e
15:05:22.266 -> | tmp = 27.45 | gX = Tigt= 29 | gZ = 11
15:05:23.285 -> | tmp = 27.35 | gX = S 1 gY= 919z = 11
15:05:24.271 -> | tmp = 27.40 | gX = 71 gY = 29 | gz = 9
15:05:25.289 -> | tmp = 27.35 | gX = 61 gY = 11 | g2 = 10
15:05:26.272 -> | tmp = 27.40 | gX = 61 gY = 35 | gz = 12
15:05:27.291 -> | tmp = 27.40 | gX = 61 gY = 14 | g2 = 8
15:05:28.276 -> | tmp = 27.45 | gX = 3| gY= 24 | gz = E
15:05:29.295 -> | tmp = 27.35 | gX = 61 gY = 41 1 gz = 11
15:05:30.2728 -> | tmp = 27.45 | gX = 71 9Y = 15 1 gz = 10
15:05:31.298 -> | tmp = 27.45 | gX = 51 gY = 14 | gZ = 12
15:05:32.314 -> | tmp = 27.21 | gX = 11 1 gY = 29 1 gz = 10
15:05:33.300 -> | tmp = 27.35 | gX = 71 9Y= 20 1 gz = 10
15:05:34.319 -> | tmp = 27.40 | gX = 61 gY = 15 | g2 = 11
15:05:35.303 -> | tmp = 27.40 | gX = 51 gY= 28 1 gz = El |
V] E#hHEEh (V] Show timestamp (BATERE v [9600bad ]
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